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Algebra 1 Unit 8 Practice Quiz

18 Questions
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What is the vertex in a quadratic equation?

a) The line that divides the graph intotwo [

symmetrical parts

NAME :
CLASS :

DATE :

b) All real numbers

c) The highest or lowest point of the parabola [] d) y=mx+b

What is the vertical line that divides the parabola into two

symmetrical parts?

a) parabola

) axis of symmetry

What is the axis of symmetry?
y=3x2-6x+4

What is the vertex?
f(x) = -x2 - 4x + 12.
a) (-2,16)
Q) (2,4)

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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b) vertex

d) all real numbers

b) x=-6
d) x=-1

b) (2, 0)
d) (-2, 4)
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L] a) (0,0)
] o 4,2)

1 a) x=0 and x=2
[1 ¢) x=2and x=3

y=2x"+4x+5

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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What is the vertex?

] b) (2,4)
L] d) (4,0)

What are the

[1 b) x=-4 and x=0
[1 d) x=0and x=4

What is the y-intercept of this parabola?

L] b) (-3,11)
(1 d) (0, 5)
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What is the domain of the graph shown above.

1 b) all real numbers

[1 d) Maximum

The range of the graph is

b)) y<—1

L d)y>—1

3/7



4/16/2020 Algebra 1 Unit 8 Practice Quiz | Print - Quizizz
10. Match the correct graph with the equation
y=—x?— 2z —2
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11, Select the graph of the function  y = —3z* + 6z + 9

L1 a) - (1 b) \ 20 /
10 |
5 0 :
N oo | \/
(-1.6) | B
(-1.-12) (0.-9)
2 0 2 - _9p!
[1 o L1 d) :

(1,12)

0
o\ (0:9)/\ (.78)
(0.9) \
-20

12, f given the equation y = 3(x + 5)2 - 4, what is the vertex of
the parabola?

L] a) (5,-4) C1 b) (-5, -4)
Ol ¢) (-15,-4) 1 d) (15, -4)

13. What is the vertex of: y= (x-3)2 + 6
] a) (-3,6) L] b) (-3,-6)
L1 o (3,6) L1 d) (3,-6)

14. Comparey = x2 - 7 to the parent function y = x?

[] a) moves 7 units right [ 1 b) moves 7 units left

] ¢) moves 7 units up ] d) moves 7 units down

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1 5/7
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15. Comparey = (x+ 10)? to the parent function y = x2
(] a) moves 10 units right [ 1 b) moves 10 units left

] ¢) moves 10 units up [] d) moves 10 units down

16. Comparey = 5(x + 6)2 -4 to the parent function y = x2

[ 1 a) vertical stretch, moves 6 units left and 4 [ 1 b) vertical stretch, moves 6 units left and 4
units up units down

[ ¢) vertical shrink, moves 6 units right and 4  [] d) vertical shrink, moves 6 units right and 4

units up units down
17. L34 Which quadratic function is represented by the graph?
ImE
\ il
\ i
s R T >
L a) fx) = (x-2)2-1 LI B) fix) = (x + 2)2 - 1
L0 fx) = -(x +2)2- 1 L1 d) fix) = (x-2)2- 1

18.  Which function has a translation of 3 units left and reflects

over the x-axis?
O a f(z)=(z+3)*—8 O b) f(z)=—(z+8)°—3

09 f(2)= (e +8) -3 0d) f(e)=—(z+3)+8

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1 6/7



4/16/2020

Answer Key
1. ¢
2 I€
3. a
4, a
5. b

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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11.
12.
13.
14,
15.
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16.
17,
18.

b
b
d

77



4/16/2020 Algebra 1 - Unit 8 Quiz | Print - Quizizz
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CLASS :

Algebra 1 - Unit 8 Quiz
DATE :

18 Questions

1. What do we call the highest or lowest point of a quadratic?

[ a) parabola 1 b) vertex
[ ¢) graph 0 d) point
2. What is a axis of symmetry?

[1 a) all real numbers O] b) y=5

[ ¢) the line that divides the graph into two O] d) y=mx+b
symmetrical parts

3. What is the axis of symmetry?
f(x) = x2- 8x + 15,

4.  What s the vertex?
y=-2x2+4x +3

a) (0,3)

o) (1,5)

[
[

b) (-1,5)
d) (1,-5)

]
]

https://quizizz.com/print/quiz/5e90cde239dce3001b50ca43 1/6
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[1 a) all real numbers

] o (0,2)

https://quizizz.com/print/quiz/5e90cde239dce3001b50ca43
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What is the vertex?

L] b) (3,-1)
L] d) (4,2)

What are the x- intercepts?

[1 b) x=0andx=4

(1 d) x=2

What is the y-intercept of the graph shown above?

[J b) (0,6)
(] d) (0,-6)

2/6
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[1 a) all real numbers

O o) y=-1

https://quizizz.com/print/quiz/5e90cde239dce3001b50ca43
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What is the domain of the graph?

1 b) x>4

[1 d) all real numbers

What is the range of the graph?

O b) y=-1
O d) y=3

3/6
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10.  Graph the following equation:y=x2-2x-3

L[] a) [ b) y
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12. What is the vertex?
f(x) = 2(x - 5)2 + 12
L1 a) (-5,-12) 0 b) (5,-12)
O o (5,12) O d) (-5,12)

13. What is the vertex of: y= (x+ 4)2- 5

[

a) (4,-5) L] b) (-4,-5)
) (-4,5) ] d) (4,5)

[

14. Comparey = x2 + 5 to the parent function y = x2
[ a) moves 5 units right [ 1 b) moves 5 units left
[ ¢) moves 5 units up [] d) moves 5 units down

15. Comparey = (x-8)2 to the parent function y = x2

]

a) moves 8 units right [ 1 b) moves 8 units left

[

€) moves 8 units up [ 1 d) moves 8 units down

16. Comparey = 2(x - 3)2 + 5 to the parent function y = x2

[ 1 a) vertical stretch, moves 3 units left and 5 [ 1 b) vertical shrink, moves 3 units left and 5
units up units up

[ ¢) vertical shrink, moves 3 units rightand 5 [] d) vertical stretch, moves 3 units right and 5
units up units up

17. Which function has a translation of 7 units down and
reflects over the x-axis?

LI @) fx)=-(x-7)2+ 1 LI b) fx) = (x + 7)2 + 1

L9 fix)=-(x-1)2-7 LI d) fx) = (x + 1)2-7

https://quizizz.com/print/quiz/5e90cde239dce3001b50ca43 5/6
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18. T T T T 1T 1T & Which quadratic function is represented by the graph?

. |

1_5* —a v 1

O a) y=2x-42+5 L) b) y=2x+4)2+5

] C)y=-2(x—4)2+5 [ d)y=-2(x+4)2+5

https://quizizz.com/print/quiz/5e90cde239dce3001b50ca43 6/6
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CLASS :

Algebra 1 Unit 8 Practice Quiz
DATE :

18 Questions

1. Whatis the vertex in a quadratic equation? (? '{2-9

[1 a) The line that divides the graph into two L1 b) All real numbers
symmetrical parts

El/c) The highest or lowest point of the parabola [0 d) y=mx+b

2. Whatis the vertical line that divides the parabola into two Q 'l 2.0)
symmetrical parts?

/|
Y,

[0 a) parabola ] b) vertex
Bl ¢ axis of symmetry ] d) all real numbers x
3. Whatis the axis of symmetry? X = = '—6) - 6

= 3K 6x st 2(3) G
I‘E(a) x=? b e ] b) x=-6
] ¢ x=2 0 d) x=-1
4,  Whatis the vertex?

f(x)=-x2-4x+12.(-Fg:-)l"-‘[x-}la Y :

a) (-2, 16) - O by(or

9@ T e
O g4 L] d) (-2,4)

—Ix*-Yx +12 )<-'-—'—IZ‘ = __—-—-('q)':_:/ -2

= 3, N Y B

Y= = () -9(2) +i2
= () +& 412

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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5. A What is the vertex?
8
1/ \
s 11 ¢
I \
[, \
| \

1 a) (0,0 Cl b) 24) 2

O o (4,2) O d) (4,0)
6. A What are the x-intercepts?
\
(TARER
sEyamERS’

/ \

[, \

L \
] a) x=0and x=2 [ b) x=-4 and x=0

[ ¢) x=2 and x=3 @

% What is the y-intercept of this parabola?
O a) (-1,3) [ b) (=3, 11)

0 o (-2,5) Q d) (0,5 O

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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O a) x=19
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https://quizizz.com/print/quiz/5e9656d58ef8170020e522a1
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What is the domain of the graph shown above.

x- values)

zI}' y) s’ 6/ 7) )

XEX 4 /

b) all real numbers

[0 d) Maximum

The range of the graph is

——————

6— V& lw))

~,-3,-2 - }
s
nowlers lers Has of eavel b -]

3 =
=Ll

Ody>-—1

317
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y=—b’_2c_2
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10.  Match the correct graph with the equation
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11. Select the graph of the function

LU

1 a) ;

mZan

\ 10
V (0,9)
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y=—3z+62+9

fl Cl b)

(-1,6)
! 2 0 " ~ |
RIONYORER |
-\ ey i
@) (112) o Bl 0 5
(1,-6)
L /"\ (0, -9) .
(0,9) \
20
| :
L |
2 (9 ? i
= a - h
2. If given the equation y = 3(x +5) <4, what is the vertex of Y 7, (g-— ]
the parabola? g B
= 3(x=(-$)) #(-4 o/ sheik
P I t - TEre R
1 o (-15,-4) T O] d) (15, -4)
h k
13. What is the vertex of: y= (x-3) + 6 v
O a) (-3,6) O b) (-3,-6)

hovi 2 skt
i 8
+ k

vevt ehit

14. Comparey = xz@o the parent function y = x2

[J a) moves 7 units right

[J c) moves 7 units up

https://quizizz.com/print/quiz/5e9656d58ef8170020e522a

[0 b) moves 7 units left

d) moves 7 units do
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15, Compare y = (x+ 10)2 to the parent function y = x2 7
= m pon?
(] a) moves 10 units right 1 b) moves 10 units le C\'"}f ‘j
[J ¢) moves 10 units up [] d) moves 10 units down ’
- < ’ +)<

(x —{—lbﬁz
L

Compare y = 5(x + 6)% -4 to the parent function y = x

16.
WCaI stretch, moves 6 units left and 4 lw ical stretch, moves 6 units left and 4
units up units down
e rtical shrink, moves 6 units rightand 4 [ ertical shrink, moves 6 units right and 4
units up units down
y = S(z [ﬂ\ *(—‘1)
a
MG ,k@ o
17. 4 Which quadratic function is represented by the graph?

ve=a(x-N+k

vertex —2 -
E k'j'fa:[z—(—ﬂ) = (1)
r,‘ﬁ(»<+2) j

b
B

A

__—f——'_':':‘__‘_'-_:-_-:hhhx-
@ ) =lx +2)2-1

L a) £ =l(x - 2)2 - 1
1 w2241 /) D%)aeck-z)zwﬂ

18.  Which function has a translation of 3 units left and reflects
e

over the x-axis?
O & fz) = (z+3)° - 8 0 b f(z) =~ (z+8)* 3

LER) = (a+8) —3 'l" 0 d) () = — (0+3)°+8

(«’5,‘57 | Y = _q.(sc-h\z +K
x g - (e=(-N+ &
Y =-—[><+3) + K

6/7
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